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ÿoˆÁTˆEı YÁPˆy‘] ( B.D.P.) 
◊`l˘Á[˝bÔÁ‹ôˆ YÃ[˝›l˘Á ( Term End Examination ) : 

 ◊Qˆ„a∂ëˆÃ[˝, 2014 C L«X, 2015 

G◊STˆ ( Mathematics ) 
B◊¨K˜Eı YÁPˆy‘] ( Elective ) 

ÂbÁQÕˆ` Yy ( 16th Paper : Computer Programming in C ) 
a]Ã^  f ªV«c˜O H∞RÙOÁ Y…SÔ]ÁX  f 30 
Time : 2 Hours Full Marks : 30 

( ]Á„XÃ[˝ mÃ[˝”±ºˆ  f 70% ) 
( Weightage of Marks : 70% ) 

Y◊Ã[˝◊]Tˆ C ^UÁ^U =w¯„Ã[˝Ã[˝ LXÓ ◊[˝„`b ]…_Ó ÂVCÃ^Á c˜„[˝* 
%£à˘ [˝ÁXÁX, %Y◊Ã[˝¨K˜~TˆÁ A[˝e %Y◊Ã[˝õıÁÃ[˝ c˜ÿôˆÁl˘„Ã[˝Ã[˝ Âl˘‰y X∂ëˆÃ[˝ 

ÂEı‰ªRÙO ÂXCÃ^Á c˜„[˝* =YÁ„‹ôˆ Y“‰`¬Ã[˝ ]…_Ó]ÁX a…◊ªJÙTˆ %Á‰ªK˜* 
Special credit will be given for accuracy and relevance 

in the answer. Marks will be deducted for incorrect 
spelling, untidy work and illegible handwriting. 

The weightage for each question has been 
indicated in the margin. 

1* Â^-ÂEıÁ„XÁ AEı◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX  f 10 × 1 = 10 

 (Eı)  Bisection Yà˘◊Tˆ„Tˆ 013 =+− kxe x  a]›EıÃ[˝„SÃ[˝ 

AEı◊ªRÙO [˝Áÿôˆ[˝ [˝›L ◊XSÔ„Ã^Ã[˝ ÊZ¿ıÁ-ªJÙÁªRÙO¤ %·¯X EıÃ[˝”X* 

51)10(01 ⋅⋅⋅=k -AÃ[˝ LXÓ =N˛ a]›EıÃ[˝„SÃ[˝ [˝›L 

(ªJÙÁÃ[˝ V`◊]Eı ÿöˆÁX Y^Ô‹ôˆ £à˘) ◊XSÔ„Ã^Ã[˝ C-program- 

◊ªRÙO ◊_F«X* 4 + 6 

 (F) Y◊Ã[˝GS„EıÃ[˝ c˜ÁQÔˆCÃ^ÓÁ„Ã[˝Ã[˝ ◊[˝◊\ˆ~ %e`m◊_ Eı› Eı› ? 

TˆÁ„VÃ[˝ EıÁ^Ô◊[˝◊W˝ ae„l˘„Y [˝SÔXÁ EıÃ[˝”X* c˜ÁQÔˆCÃ^ÓÁ„Ã[˝Ã[˝ 

◊[˝◊\ˆ~ %e„` TˆUÓ C ◊X„V¤` %ÁVÁX Y“VÁ„XÃ[˝ [˝¿Eı◊ªJÙy◊ªRÙO 

◊VX* 3 + 4 + 3 

2* Â^-ÂEıÁ„XÁ YgÁªJÙ◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX  f 4 × 5 = 20 

 (Eı) xhcos -AÃ[˝ ]ÁX YgÁªJÙ V`◊]Eı ÿöˆÁX Y^Ô‹ôˆ £à˘\ˆÁ„[˝ 

◊XSÔÃ^ EıÃ[˝ÁÃ[˝ LXÓ AEı◊ªRÙO ÊZ¿ıÁ-ªJÙÁªRÙO¤ Y“ÿô«ˆTˆ EıÃ[˝”X* 4 

 (F) %ÓÁ_„GÁ◊Ã[˝V]À EıÁ„Eı [˝„_ ? AEı◊ªRÙO %ÓÁ_„GÁ◊Ã[˝V„]Ã[˝ 

È[˝◊`rÙÓm◊_ Eı› Eı› ? 4 

(G) 2 Y…Ã[˝Eı aeFÓÁÃ[˝ aÁc˜Á„^Ó ◊[˝„Ã^ÁG EıÃ[˝”X :  4 

 (i) 101101101010 −  

(ii) 1110101101011 ⋅−⋅  

(H) C-\ˆÁbÁÃ^ ªJÙ_„EıÃ[˝ XÁ]EıÃ[˝„SÃ[˝ ◊[˝◊W˝◊X„bW˝m◊_        

Eı› Eı› ? 4  
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(I¯) for-_«„YÃ[˝ aÁW˝ÁÃ[˝S EıÁPˆÁ„]Á◊ªRÙO ◊_F«X* for-_«„YÃ[˝ 

aÁc˜Á„^Ó Y“U] 100 ◊ªRÙO ÿëˆÁ\ˆÁ◊[˝Eı aeFÓÁÃ[˝ Â^ÁGZı_ 

◊XSÔ„Ã^Ã[˝ C-ÊY“ÁG–Á]◊ªRÙO ◊_F«X* 4 

(ªJÙ) AEı◊ªRÙO W˝XÁ±¡Eı Y…SÔaeFÓÁÃ[˝ %·¯m◊_Ã[˝ a]◊rÙ ◊XSÔ„Ã^Ã[˝ 

LXÓ AEı◊ªRÙO C-ÊY“ÁG–Á] ◊_F«X* 4  

(ªK˜) V«◊ªRÙO ]ÓÁ◊ÆœÙ„jÃ[˝ mSZı_ ◊XSÔ„Ã^Ã[˝ LXÓ AEı◊ªRÙO C-ÊY“ÁG–Á] 

◊_F«X* 4 

(L) AEı◊ªRÙO C-ÊY“ÁG–Á„]Ã[˝ %e`◊[˝„`b ◊X‰∂oˆ Y“Vw¯ : 

 x = 1; 

 y = 1; 

 if ( n > 0 ) 

    x = x + 1; 

    y = y – 1; 
 printf ("%d%d", x,y); 

 B %e`◊ªRÙOÃ[˝ LXÓ %Á=ªRÙOY«ªRÙO Eı› c˜„[˝, ^◊V (i) n = 0 

c˜Ã^, (ii) n = 1 c˜Ã^ ? ^«◊N˛ac˜ ◊_F«X*  4 

(Mı) ^◊V a = 5, b = 10 C c = – 6 c˜Ã^, Tˆ„[˝ X›‰ªJÙÃ[˝ 

Â^Ï◊N˛Eı Ã[˝Á◊`]Á_Ám◊_Ã[˝ ]ÁX ◊XSÔÃ^ EıÃ[˝”X :  4 

(i)  caba <> &&   

(ii)  caba >< &&  

(iii)  abca >==   

(iv)  00&&15 ><> acb  

(A’) a, b, c -AÃ[˝ [˝Áÿôˆ[˝ ]Á„XÃ[˝ LXÓ 02 =++ cbxax

a]›EıÃ[˝S◊ªRÙO a]ÁW˝Á„XÃ[˝ %ÓÁ_„GÁ◊Ã[˝V]◊ªRÙO ◊_F«X* 4 
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( English Version ) 

 

1. Answer any one question : 10 × 1 = 10 

(a) Draw the flow-chart for finding a real root 

of the equation 013 =+− kxe x , using 

bisection method. Write the C-program to 

find the roots of the above equation, correct 

up to four decimal places, for 

51)10(01 ⋅⋅⋅=k . 4 + 6 

(b) What are the different components of 

computer hardware ? Describe their 

functions in brief. Give the block diagram of 

flow of data and control among them. 

  3 + 4 + 3 

2. Answer any five questions  : 4 × 5 = 20 

(a) Prepare a flow-chart for evaluating the 

value of xhcos  correct up to five decimal 

places. 4 

(b) What is an algorithm ? What are the 

characteristics of an algorithm ? 4 

(c) Subtract using 2's complement : 4 

(i) 101101101010 −  

(ii) 1110101101011 ⋅−⋅  

(d) What are the rules for naming of a variable 

in C-language ? 4 

(e) Write down the general structure of for-

loop. Write a C-program to find the sum of 

first 100 natural numbers, using for-loop. 4 

(f) Write a C-program to find the sum of the 

digits of a positive integer. 4 

(g) Write a C-program to find the product of 

two matrices.  4 
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(h) A part of a C-program is given below :  

 x = 1; 

 y = 1; 

 if ( n > 0 ) 

    x = x + 1; 

    y = y – 1; 

 printf ("%d%d", x,y); 

 What will be output of this program 

segment if (i) n = 0,  (ii) n = 1 ? Give 

reasons. 4 

(i) If a = 5, b = 10, c = – 6, then evaluate the 

following logical expressions : 4 

(i)  caba <> &&   

(ii)  caba >< &&  

(iii)  abca >==   

(iv)  00&&15 ><> acb  

(j) For real values of a, b, c, write down the 

algorithm for solving the equation 

02 =++ cbxax . 4 

    


